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fsEs (KREETZFER) 0:01:30
1] 9:20 7 < C#&k Ballroom F1RFE 29 2] 24 ] 6 [WTF 0:09:00
2| 9:29 -0 C#k Latin E1RFECER)| 5 1] 5 | 3]|CSR 0:04:30
3| 933 7 < D#k Ballroom F1RFE 11 1] 11 ] 2 [WT 0:03:00
4| 9:36 7< B# =760 Ballroom | F1XFE 28 2| 24 | 6 |WTF 0:09:00
5| 9:45 —'0 DK Latin E1RFRCER| 3 1] 3 ] 2]CR 0:03:00
6 | 948 7 < C#%k Ballroom F2RTFE 24 2 12 | 6 |WTF 0:09:00
7 | 957 TLA934 L 0:05:00
8 |10:02 7< Bfk < =760 Ballroom | F2XF&E 24 2 12 | 6 |WTF 0:09:00
9 [10:11 70 BEGEFHE Latin F1RTE 13 1| 12 | 4 |CSRP 0:06:00
10| 10:17 7 < C#k Ballroom AERBS 12 1 6 3 |WTF 0:04:30
11]10:22 7 < D#& Ballroom R 11 1 6 | 2 |WT 0:03:00
12]10:25 70 Afk =7 Latin E1RTRECER)| 6 1] 6 | 4 |CSRP 0:06:00
13]10:31 7< B#k < =760 Ballroom AR 12 1 6 | 4 WTFQ 0:07:00
14110:38 ~'0 B#k Latin E1RFECER) 3 1 3 | 5 |CSRPJ | 0:07:30
15| 10:45 70 BEFGEFHE Latin AR 12 1 6 | 5 |CSRPJ | 0:07:30
16| 10:53 7 < D#k Ballroom R 6 1 [IERL] 2 [WT 0:03:00
17/ 10:56 —’'00 DR Latin R 3 1 | BB 2 |CR 0:03:00
18] 10:59 -0 B#k Latin R 3 1 |IEGZ| 5 |[CSRPJ | 0:07:30
19| 11:06 7 < C#k Ballroom R 6 1 [ NEfRZ] 3 [WTF 0:04:30
20 11:11 ~'0 C#R Latin R 5 1 [JEGZ| 3 [CSR 0:04:30
21| 11:15 0 Afk =7 Latin R 6 1 |Efz| 5 [CSRPJ | 0:07:30
2211:23 7<= Bfk =760 Ballroom R 6 1 |EfGZ| 5 |WTVFQ | 0:08:30
23] 11:31 70 BEFEFHE Latin R 6 1 |JIEGZ] 5 [CSRPJ | 0:07:30
24111:39 =& (BEELF—5 R BB —760-Afk —7 - EFH#)&IL (9444 | 0:20:00
251 11:59 7 < Bk Latin F1RTE 13 1] 13 | 4 [CSRP 0:07:00
26| 12:06 —'0 D#Rk Ballroom FIRFRCEER) 6 1 6 2 \WT 0:03:00
27 112:09 7< DfR Latin 1 RFR (HR) 2 1 2 2 |ICR 0:03:00
28112:12 ~’0 B#k Ballroom FT1RFE 17 2] 12 | 8 [WTFQ 0:12:00
29| 12:24 7< C#Rk Latin F1RTE 12 1] 12 | 3 [CSR 0:04:30
30(12:28 —'0 C#k Ballroom F1RFE 14 1 12 3 IWTF 0:04:30
31/12:33 73 AR =T RB— Latin | gixeEeER) | T 1] 7 | 4 |[CSRP 0:07:00
32[12:40 ~’'0 B#k Ballroom AR 12 1] 6 | 5 |WTVFQ | 0:07:30
33|12:47 7 < C#Rk Latin SRS 12 1 6 | 3 |CSR 0:04:30
34[12:52 7 < B#R Latin AR 13 1] 6 | 5 [CSRPJ | 0:08:30
35/ 13:00 —’'0 C#& Ballroom R 12 1 6 | 3 WTF 0:04:30
36| 13:05 7 < DR Latin RS 2 1 |IBBL] 2 [CR 0:03:00
37/13:08 —'00 D#% Ballroom R B 6 1 [IBGL] 2 [WT 0:03:00
38/ 13:11 7 < C#& Latin RS 6 1 |IBBL] 3 [CSR 0:04:30
39/13:15 ~'0 C#k Ballroom R B 6 1 [ IEGRL] 3 |WTF 0:04:30
40/ 13:20 7 < B#f Latin RS 6 1 | BB 5 |[CSRPJ | 0:08:30
41]13:28 ~’'0 B#k Ballroom R B 6 1 | BB 5 |[WTVFQ | 0:07:30
42113:36 7< A =7 XHZ— Latin RS 7 1 | BB 5 |[CSRPJ | 0:08:30
43| 13:44 REX (BHBEA TSR BR-ABRL=FRE—)&TLAIE(1LKBEEREN | 0:25:00
441 14:09 7< Ak =760 Ballroom F1RTE 37 3| 30 | 9 |WTF 0:13:30
45114:23 -7’0 B EFH# Ballroom F1RTE 24 2 | 18 | 8 |WTFQ 0:12:00
46 | 14:35 7 < B#}k Ballroom F1RFE 20 2 14 | 8 WTFQ 0:12:00
47 [14:47 7< A#k =760 Ballroom | E2RFE | 30 2 | 24 | 6 [WTF 0:09:00
48| 14:56 7’0 =7 X%Z— Ballroom F1RFE 15 1] 12 | 3 |WTF 0:04:30
49 15:00 -7’0 B EFH# Ballroom F2RTE 18 2 | 12 | 8 |WTFQ 0:12:00
50| 15:12 PIVEVEEEN 0:05:00
51|15:17 7< Afk =760 Ballroom | E3XFE 24 2 12 | 6 |WTF 0:09:00
52| 15:26 7 < B#k Ballroom AR 14 1 6 | 5 |WTVFQ | 0:08:30
53| 15:35 70 =7 AX%— Ballroom AR 12 1] 6 | 4 [WTFQ | 0:06:00
54| 15:41 PIVEEEEN 0:05:00
55 | 15:46 7’0 R EFHE Ballroom AR 12 1] 6 | 5 [WTVFQ | 0:07:30
56 | 15:53 7< A# =760 Ballroom ERE 12 1 6 | 4 WTFQ 0:07:00
57| 16:00 7 < B#& Ballroom RS 6 1 [IERZ] 5 [WTVFQ | 0:08:30
58| 16:09 7’0 =7 X%— Ballroom RB 6 1 |EfzZ| 5 |[WTVFQ | 0:07:30
59 116:16 73 Afk =760 Ballroom RE5 6 1 |IEZ| 5 |WTVFQ | 0:08:30
60 | 16:25 70 EHFEFHE Ballroom R 6 1 |EfGZ] 5 [WTVFQ | 0:07:30
61| 16:32 REX (BBEAFT—FUXBR-ARYZT60- 7 RE— ERBEFHE) &IL19%404L | 0:20:00
62| 16:52 FAEEE (KREETEER)
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